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Question 1
Question Type: MultipleChoice

Which Cisco vEdge router offers 20 Gb of encrypted throughput?

Options: 
A- Cisco vEdge 1000

B- Cisco vEdge 2000

C- Cisco vEdge 5000

D- Cisco vEdge 100

Answer: 
C

Question 2
Question Type: MultipleChoice



Which two options help you sell Cisco ISE? (Choose two.)

Options: 
A- Showcasing the entire ISE feature set

B- Referring to TrustSec as being only supported on Cisco networks

C- Discussing the importance of custom profiling

D- Explaining ISE support for 3rd party network devices

E- Downplaying the value of pxGrid as compared to RESTful APIs

Answer: 
A, D

Question 3
Question Type: MultipleChoice

Which are two advantages of a ''one switch at a time'' approach to integrating SD-Access into an existing brownfield environment?

(Choose two.)



Options: 
A- appropriate for campus and remote site environments

B- ideal for protecting recent investment s while upgrading legacy hardware

C- involves the least risk of all approaches

D- allows simplified roll back

E- opens up many new design and deployment opportunities

F- allows simplified testing prior to cutover

Answer: 
A, B

Question 4
Question Type: MultipleChoice

Which component of the SD-Access fabric is responsible for communicating with networks that are external to the fabric?



Options: 
A- border nodes

B- edge nodes

C- control plane nodes

D- intermediate nodes

Answer: 
A

Question 5
Question Type: MultipleChoice

Which option will help build your customers platform during the discovery phase?

Options: 
A- POV report



B- detailed design

C- high-level design

D- PO

E- business case

Answer: 
E

Question 6
Question Type: MultipleChoice

Which are the three focus areas for reinventing the WAN? (Choose three.)

Options: 
A- Secure Elastic Connectivity

B- Centralized device authentication

C- Application Quality of Experience



D- Operations

E- Cloud First

F- Execution

Answer: 
A, C, E

Question 7
Question Type: MultipleChoice

Which two activities should occur during an SE's demo process? (Choose two.)

Options: 
A- identifying which capabilities require demonstration

B- highlighting opportunities that although not currently within scope would result in lower operational costs and complexity

C- asking the customer to provide network drawings or white board the environment for you

D- determining whether the customer would like to dive deeper during a follow -up



E- leveraging a company such as Complete Communications to build a financial case

Answer: 
B, D
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